cue bid promisis fit , 2 ¢ after 2 & overcalls F1 [Suit 2nd/ 4 th (low from dubleton ) same
INT 2nd oré4 th best s?me , if not agree partnres suit WBF Convention Card 2 1 gﬁ
[Subseq high from dubleton , low from three e
or more cards
INT OVERCALL (2ND/4TH Live; Responses; Reopening) Other:  Low from dubleton top of honour against suit intentionaly against NT ICategory: Red Polish club modified
2 nd pos 15 - 18 HCP with stopper , respons Stayman transfer ond T/O DBL against high contract K ask abaout count A ask about encoreging ICountry: Poland
4 th pos 11 - 14 HCP maybe w/o stopper , after 2 & relay , transfer after Event: All event
suit opening ¢, ¢ , & LEADS Players: [Kowalski Apolinary - Romanski Jacek
Lead s. Suit s. NT ISYSTEM SUMMARY
Ace AKx (+) AKJIx (+), AKx( +) IGENERAL APPROACH AND STYLE
JJUMP OVERCALLS (Style; Responses; Unusual NT) King AK, KQx( +) ,Kx AKJ10x ,KQ109x Polish club, 1% opening F!R maybe Os , responses are natural or artifici
1-Suit: Narural weak up to opening, after opaning 1 & jumpto2 ¢ =5-5 ¥ + & JQueen QJx(+), Qx KQx( +) ,KQ9 ,QJ10, QJIx( +) 10 12-18 HCP 4+9, 19,4 12 - 18 HCP 5+ cards, 2 precision 6+s or 5+ & and
if 1 & = les then 3 card in & suit , if 3 & Or more jump to 2 ¢ natural weak Pack J10x( +), Jx , AJ10, KJ10 J1ox , Jx, AJ10x( +) , KJTox( +) 4 any 11 - 14 HCP, 20 MULTI only weak ¥ or &, 2 ¥ weak twosuiter ¥ and any
P-Suit: Natural weak , after opening 2 & & nat ¥ jump to 4 ¢ = twosuiter 5-5 ¢ +[10 10x,109 , H109x( + ) , H10x 10x, H10x, H109x( +) , 109 suit 5 - 5 or better, 24 weak twosuiter 4 and minors 5 - 4 or better, preemptive weak
after opening 2 ¢ & nat ¥ jump to 4 & = twosuiter 5 - 5 & + ¥ ,after openingd 109x( +) , H9x 109x( + ), H9x classic, 3 NT Gambling, 4% , 40 good opening with ¥ or &. 2 NT 20 - 22 maybe 5 ¥
3&jumpto4 ¢ =twosuiter5-5¢ + 9V, Hi-x XSx , XSxS , XSxSx xSx , XSxS , xXSxSx , 54 or 6minors or 5,4 distribution
NT - natural or two lowest suit Lo-x xxS , HxS , if not agree partners suit[INT Openings: 14 + - 17 HCP maybe 5 card M or 6 m or 5-4 distribution
Reopen: 10 - 15 HCP 6+ natural xS xS, Sx if not agree partners suit P OVER 1 Responses FG or F1
DIRECT and JUMP CUE BIDS (Style; Responses; Reopen) [SIGNALS IN ORDER OF PRIORITY ISPECIAL BIDS THAT MAY REQUIRE DEFENCE
Direct cue bid , 1 & & les then 3 cards & ¥ - 2 &% = natural A3 ormore eV =5-5¢ Partners Lead Declarer's Lead Discarding 1 0 & possibile, 12 - 14 balanced, 15+ natural , 18+ any distribufion, this opening
10 Mlesthen3carde O V-2 0 = natural, d3ormore 0 20=5-5V + &, 1V - 2 YSuit: 1st Hi-Lo=0 Hi-Lo=0 S/IP its one round forcing,
54+58% 1V-2NT-5%+50,1V-3&%-50+54 . 1A-24-5V+5% 2nd Hi = Discrg Lavinthal Hi- Lo =0 2 0 MULTI only weak ¥ or &
TA-2NT-58+50,1A4-3&H-5V+59,2& A artificiel V-3 &-nat, 2 & & nat 3rd Lavinthal 29, = twosuiter 5-5 weak 6 - 11 HCP
V3 &, 4 &-twosuiter with & , 2 & & nat ¥ - 4 ¢ twoiuiter ¢ + ¥, 2 ¢ A artificiel ¥ - 3NT: 1st Hi = Discrg Lavinthal Lavinthal 1¢ - 29 = 5-4+ minors inwit, 1¢% - 24 = transfer for 3NT,
0 -nat- 2 0 AnatV -3, 4,0 -twosuiter with & , 2 ¥ A artifical V-3V -nat, 2V a4 nat] 2nd Hi-Lo=0 Hi-Lo=0 Lavinthal after pas 1¢e - 24 = 5-5 minors,
[ 3V - twosuiter with &, 2 A A artifical ¥ - 3 & - nat, 2 & Anat ¥ - 3 A - twosuiter with 3rd Lavinthal Lavinthal 10-2¢ 7-11HCP5A +4 + 9,10 - 29 invit with 4 + ¢

Jump cue bid , 1 ¥ - 3 ¥ = ask about ¥ stopper or slam tray any suit, 14 - 3A same|

[Signals (including Trumps):  Against NT to first lead A and Q we give small if ENC

190 -24Abeforpass 10-11 HCP min5-5inV + &,

VS. NT (vs. Strong / Weak; Reopening; PH)

to lead K deblock or count revers H - L = Odd

vs NT strong 14 - 18 HCP ; 2 nd pos , DBL = 5m + 4M , 2¢& = twosuiter ¥ + & , 24 =

Other Lavinthal or count revers

MULTI, 2V =5+Vand4+m,24=5+4Aand4+m ,2NT=5-5&and ¢,

DOUBLES

4 th pos ; DBL = twosuiter 10 HCP + at least one M suit mayby 4 - 4 & after 2& and 3

ITAKEOUT DOUBLES (Style; Responses; Reopening)

are choise correctable 2¢ and 24 are to play ¥ , 2 = twosuiter w/o & , 2¢,9,4 = nat

Style aggressive , after partner pas double promisis two suit ,responsive DBL ,

vs NT weak 10 - 14 HCP ; 2 nd pos ; DBL = 13 = HCP, 2 ¢,9,4 same like after

direct lead DBL , 1 & overcalls 1 ¢ - DBL = 4+ ¥ ; 1& overcalls 1¥

strong NT 2 NT = good twosuiter 5-5, 1NT - pas - 2& - X = T/O

DBL =4+ A 1 &, ¢ overcalls 14 - DBL = 4+ ¥, support DBL

4 th pos ; DBL = 10 HCP +, 2 &%,0,9,A same like after strong NT

VS. PREEMPTS ( Doubles; Cue-bids; Jumps; NT bids)

[SPECIAL, ARTIFICIAL AND COMPETITIVE DOUBLES/REDOUBLES

[SPECIAL FORCING PASS SEQUENCES

DBL = T/O, cue bid = twosuiter , NT = natural or twosuiter , jump = constractiv hand

Lead direction double negative doublle through 4 ¥

After ours opening and oponents overcalls if opener has shortnes in overcalls

Redouble normaly without fit in opening suit exept 1 & - 19, &, - x - xx = fit 3 cards

suit hi is obligated to DBL w/O extra Valious

After ours opening 2 ¢ double on level 2 are negative on level 3 penalty

VS. ARTIFICIAL STRONG OPENINGS

After ours opening 2 ¥ , & double on level 2 and 3 &, ¢ are negative

IMPORTANT NOTES THAT DON'T FIT ELSEWHERE

vs strong opening 1¢ ; DBL = twosuiter red or black at least 4 - 4 distribution ,

Opening 1 & is one round forcing bid and answer 1 ¢ is one round forcing bid.

10 = twosuiter ¥ and & or & and ¢ at least 4 - 4 distribution 1V, & are natural

In auer system we have only one opening with strong hand 1 &

mayby 4 cards , 1NT = transfer to & , 2& = transfer to ¢ , 20 = good twosuiter

5-5%and &, at level 3 natural premptive mayby weak

Psychics:  occasionally

IOVER OPPONENTS' TAKE OUT DOUBLE

DEFENSIVE AND COMPETITIVE BIDDING

RDBL = 10+ HCP usually without support in opening suit , after opening 1, ¢ , ¥V .4

JOVERCALLS (Style; Responses; 1/2 Level; Reopening)

LEADS AND SIGNALS

and defender DBL we play transfer way respons , jump shows ussually suit and

Natural solid after partner pas mayby light or only for lead

JOPENING LEADS STYLE

support in opening suit

1-level, nev suit = F1, 2 - level nwv suit = NF , 2 & - Drury maybe wi/o fit ,

In Partner's Suit

Fead




JOPENING BID DESCRIPTIONS
Opening Artificial Min. [Neg Dble thriDescription Responses Subsequent Auction Passed Hand Bidding
) ves 0 ™ 12 - 14 balanced 10 -FIR0-7HCP negative ,7-11 HCP one orboth | 1 & -1 ¢ - 1 ¥.4 - NF maybe 3 cards 12 - 20 HCP 1 - 29 invit with minors 5 - 4 distribution
) 15 + natural Iminors , 17 HCP without 4M and 5 minors 1&-1¢-1NT-FG any distribution 1% -2A7-11 HCP 5 - 5 minors
) 18 + any distribution 19 .4 -nat4+cards 7+ HCP, INT-8-11no4 M, 1 - 1 Y/ - 30 - strong support in V/&, 4+ - slam try
L] 2 &, ¢ nat 5+ cards GF without4 M ,29-9-11HCP | 1&%-29-2 A - FG Realy
) with minors min 5-4 distribution, 2NT,3&, 3¢ nat invit 1&-10-3%9.9.4-strong twosuiter 5 - 5 or better
) 24 - transfer for 3 NT, 3 NT to play, 3¥.4 7 cards with | after defender DBL 1 ¢ - shows ¥, 19 - shows & ,
L] 2 honors AQ or KQ max Q outside 1 A transfer to NT or weak hand with & 1 NT - nat
L] 2 & shows ¢ 5 + and 5+ HCP, 2 ¢ shows ¥ max 7 HCH
L] or GF 29 shows & max 7 HCP or GF, 24 shows & and
[ i ™ 12-18 HCP 5+ ¢ 20-7-11HCP5A+4+9 .29 -invitwith4 + 9, natural or transfer after oponents dbl annd 1% overcalls| 10 - 24 9 - 11 HCP 54 and 3+¢
[ 12 - 18 HCP 4 0441 24A-10-11HCP5-5in Y + & befor pass , 2 NT nat
[ from 3,4 th hand 10 - 18 HCP 4+ 9| invit, 2& - FG maybe without & if ¢ support
[ 10 - 39,44 - splinter
[ 3¢ - natural invit 6+ & 10 - 11 HCP
\VJ 5 49 11-185+9 1 NT = NF, 2 & = nat bad maybe 2 cards FG, 2 ¢ = ¥ - INT - 24 = GF realey 2% = drury fit and respons are:2¢ or weak or GF
v 5+ ¢ FG, 24 =5 - 9 HCP with 6+ &, 2NT = invit with 3 ¥ - 3¢ - 3V = ask about singleton 29 = normal opening
\VJ cards support, 3¢ = 7 - 11 with 4 cards support, 3¢ = ¥ - 3% - 3¢ ask about streng
v 9 - 12 splinter, 3¥ = premptive, 34,3NT, 4& = 12+ strond after 1¥ opening and defender DBL we play transfer
v splinter, 4¢ = 12 - 14 HCP 4+ ¥ support no singleton
A 5 49 11-185+ A 1A-1NT =NF ; 2& = nat F1 maybe 2 cards;2¢0=nat GF_[1 4 - 1 NT - 2 & - FIR maybe w/o & same as 1¥ opening
A 29 =5+9Y GF, 2 NT =10 - 11 HCP with 3 cards, 14 - 3% - 30 = realey, after 14 poening and defender D
A 3% =7 - 11 4 cards support, 3 ¢ =9 - 12 HCP splinter, | we play transfer way,1 & - 3 ¢ - 3 ¥ = ask about singlet
A 3Y = invit with 6 + ¥, 3 & = premptive, 3NT,4 &, 4 ¢ =
A 12 + strong splinter, 4 ¥ = to play
T 2 34 14 + - 17 HCP maybe any 5 cards | 2¢&% = stayman, 2¢ = transfer ¥, INT-2&-2 90 =no4 M after 2 & FG relay, 1NT - 2¢
T mavybe 6 cards m , maybe 5 - 4 29 = transfer &, 24 = invit or transfer &, 2 NT = 2NT = min with both M, 3¢ = max with both M
T distribution transfer ¢, 3% = GF with singleton & and 5 ¢, 3¢ = GF |1 NT -2 & -2 ¢ - 2 ¥ =nat no forcing, INT - 2& - 2% -39
T with 5 & and singleton ¢, 3 ¥ = GF with singleton ¥ and| ask abaout 3 cards M GF
[ 5 -4 + minors, 34 = GF with singleton 4 and 5 -4+ m
[ 4%=5-5M,490.9 = Transfer ¥ or &
CJ 5 49 20=F1relay,29Y, 4 =NF nat 2 NT =transferto 3¢ | 2& -2 ¢ - 2 NT = 6+ & w/0 singleton after 3 ¢ = relay
£ orinvitwith5-5M,or 6 ¥, & 13+ weak suit,, or slam | 2 & - 2 ¢ - 3 & = 6+ & with singleton after 3 ¢ = relay
£ try , 3 = invit to 3 NT or 5 & .3 ¢ = invit with ¢ suit 2&-2NT-3&%-30=5-59+4Ainvit
£ 3V . & = FG good suit
0 ves 0 24 6-11HCP6+Yora 29 . A =NF correctable , 2 NT =GFrelay , 3 =invit | 20 -2 A -3 &, ¢ =¥ suit with honors &, ¢ not min 29¢- 3¥ = PRE with M support
[ rtansfer way,3¢ = support in both M ussually PRE, 3.4 2 0 -2 A - 3 ¥ = ¥ minimum hand 20 - 2NT - 3% = good 2¢ defender DBL - 3¥ = PRE with M support
[ = nat forcing, 3NT to play, 4¢& = ask abaout suit transfer| opening after 3¢ ask abaout suit transfer way,2¢-2NT-
[ way,49 = ask abaout suit,4¥.4 = to play 39 = weak with ¥, 3V = weak with &
v 5 24 6 -11 HCP 5+ ¥ + 5+ any suit 2 A = NF choice partner suit, 2 NT F1IR relay .3 = invi] 2% -2 NT - 3 & - 3 ¢ = fix & to play and slam try
v to &, 30 = invit to ¥, 34 = F with & 2V -2NT-3&-3 A =fix ¥ to play and slam try
A 5 6-11HCP 5+ A +5+&o0r 2 NT F1 relay , 3 & NF choise partner suit , same as 2 ¥ opening
A 3Y_=F with 9 suit
T 2 49 20 - 22 bal maybe any 5 card suit | 3¢ = puppet stayman, 3¢.¥ = transfer ¥ or &, 34 = 2NT - 3&% -39 = one or both M suit, 3¥.& =5 cards
[ or 5 - 4 distribution 5-4 minors , 3ANT =54 +4+ 9, 4% =5-5M, 40,9 = 2NT - 30,9 - 39,4 = dubleton
PNT transfer ¥ , &
B 6 preemptive weak if NV against V_| any nat F1R
30 6 preemptive weak if NV against V_| any nat F1R
3V 6 preemptive NV against V weak any nat F1R
34 6 preemptive NV against V weak any nat FIR
BNT yes 7 one solid minor max one Q outside]4¢ = asking abaout sinaleton
o ves 7+ 8 - 9 tricks on ¥ 4 ¢ ask abaout maksimum , 4 ¥ to play
o yes 7+ 8 - 9 triks on A 4 ¥ ask abaout maksimum , 4 A to play
N 6 natural to play
4o 6 natural to play
UNT yes good twosuiter minors
Ot natural to play
50 natural to play
5V
Sy
BNT
HIGH LEVEL BIDDING
Blackwood 5 controls (4 A + K trump + Q trump )
Cue - bids , Josephine , 5 NT asking abaout as if 4 NT no possibile
we play responses for controls 102 with Q of trumps and king outside




